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Diredtions [L01- 108 : It the fol-

out twhich part of a sentence has an
arros, The mumber of that part s yowr
ansioern [fthere is no errof the anstuier
= {4h
101 We saw (1] sand sculptures (217
in the beach. (2} No error. (4]
102, Everybody in the office (1)/ has
* left earty, (214 haven't they 7 (317
N error. [4)
lmmumhcrtoumat!mmaam-
denta should have gone to the -
brary (3} inatead of having
wasted their time., mlf Mo er-
ror. (4}

104, He b5 (1] one of the tallest by
(2] in the cluss. [3)y Mo error. [4) .

105, He was avwarded (1) with a doc-
torate degree {2}/ for his near lp-
vention. (37 No error, [4)
Directions (106-110] : In the fol-

lowring quesstions, sorme of the serienoss

e gl Lealth Belcurekes e e filleed Oy usith

approprigte words. Four altermatives

ane each question. Choose
ﬂlemﬂmuuemnmumuqr:hfﬁum

108, Thework was ____ by the ralns.
1) restricted (2] prevented

{H hampeped (4] obstnacted

107, He knows French and German
Russian,

1) besdcle 12) besldes

(3 ambde  * [4) exccept
108, His reputation has been___ by

hie foolish acta,

(1) imcreased {2 decreased

{3 retrieved {4 taint=d
108, Meditatbon s way to calm

FOUT MErvEs.

(1} a beat .

() one of the beat

13} the besl

[4) an besl

110. The Prime Mindbter of England
called the' President of
America. '
~[1}in {2 east
(3 on =
Directions (111-1185) & It the -

lowning queestions, out of the four calier-

natives, choose e one whsich best ex-

p-m.iu the meaning of the gloen wored,

111. INADVERTENT

(1) thoughtless

[2) usinberitional

[4) inzamne

[4} unintelligent
112, BARREN

(1) insane (2) rough

[3) infertile ) hissty
113 ABSTAIN

(1) inatat (2} peratst

[3) refraln (4] resist
114. COUNTERFEIT

[1} comstant (2} unknown

(3] bl ased - (4] Cake
118, NOVICE

[1] expert. (2] specialist

3] generallst (4] beginner

Directions (116120 : I e fol-
lotiing queestions, chooss the word op-
Poslte b reatling to the glesait toredl,
118. DIMINISH .

(1) increase (2} improve

, @introduce  [4) decrease

117. COMPLY

1) chalberge (2} comnplain

) conform [4) compete
118. TREACHEROUS

1) tactfl (@) violent

(31 fatihful (4} false

118 INQUISITIVE

(1) inadequate (2] bmmature

13 uncomiortabls

{4 unconoemed
120, AFFLUENCE =~

[1) powverty (2) influence

123 neghect (4] semblance

Directions {121-538) 1 In the fol-
louning questions, fouralfermatives ane
ginen for the idiom/ phrose beld i the
sentenoe. Choose the alternative which
best expresses the meandng af the
Hlm'n,l"phru_-:.-
121, Do nol yan dnr-n;raurﬁ‘!gndaln

public

{1) Aght with

2 follow -

{3 make a menthon af

{4 criticlae
122, Most ml;cnt.u find it difficult to

make both snds mest becanse

of inflation.

(1) tor lesandd 2 Dawish Wi

2] tor Ihee wrdihin one's ncosme

13 to Bve a mdsecty U

14 to lead an active Hie
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123. The students were advised 1o
pore over e lesaona thorouwghly.
Ngothrough (2 go down
i3 o off (4] go out

124, The twd (famous writers crossed
swords with each alfper oo every
l=mue,

[ 1) fowsght phyveically

(2} cromsed the rosd on mesting
[3 took didferent roules

[ disagreed

128, The traflle came to 2 atandstill
after the heavy dewnpour of radn.
(1) comnpilite hall
M accident spot
[ diverslon
[4) confused disarder
Dirsctions [128-130) : In the fol-

lewaitrig queestions, o part of the sentenos.

is bold. Betow are gluen alternaties to

ihe wiederdined part af (1), (2] and (3)

which may improve the senbemce.

Chooze the cormect alberrabive, n oase

ru:}:}mammmmédaiwmqm

L4, .

128, Both the mother-in-laws wel-
comed the nealy weds with gar-
lands of Mowers.

(1] rcthiers-ln-laws
(2} mother -in-laowr -
13 mothers-dn-Livar
4] Mo Improvement

127, The warkers locked ron down.
1] haeppry
{2 relaxed
13} exhanasted

4] Mo improvement
128, The relatives comfarted the old
man whose wife had died,

(1} sympathtzed with
12] pitied
13 emacled
4] Mo improvement,
129, They obtained the top-secret in-
formation bry wrong means.
11 ebever
12] fransdubent
1) Leauck
(4] Mo Empirovement
150, His speech was broadoasted over
the radbo last Thursday.
1] was broadenst
2] had been broadcast
13 has been brosdeast
it} Mo Improvement

Dirsctions (131-138) ; n the fol-
lowing questions, out of the four alfer-
ratines, choose the one which can be
substinuted for the given words/ sen-
tenoe.

131. To agree to something

(1) asgure {2} assent

() actapt 14) adhefe
1233 A person who withdraws from

the world to lhve in sechualon and

often in solituds

{I}conoclast (2 rechase

) aage {4} prieat
133. A lover of books

[4) spormdic

138. To keep a greal persan of event
In people’a memory
[1) communbcate
[ commensurate
[ comrmemarate
[ coemienlserate

Dimections [136-144) ! In the follow-
ing questions, groups of four
words ane given, In each growgs,
g word is comectly speit. Find
Thercorrectly spelt uond.

136, (1) columen
(2] axphmn
(¥ condarnm
(4] mymptem

137. (1) precarius
2] precesde

{3} premier
4] preperation
134. (1] coreapondent

Directions (141-180) : In the fol-
lowing passage, same gf the wards
Hoare bevery beft out. Fest read the pas-
sage over and try to understand wheal
it [s abewr. Then fill in the blenks weth
the help of the alternatives given,

FPossage .

Experts are béginning (o suspect
that one of the major 141 of crime in
mademn cities s the actual design of
the city. Oscar Newman, a professor
aof architecture, in his bogk titled *De-
fenaible Space” has 142 the results of
hia research on this question. The ef-
fect of environment 143 crime s bwo-
fioldd,

Prof. Newman's research shows
that some buildings may encourags
peopke not anly Lo Interfere bat to al-
lowr crimes to 144 Crowded apartments
in a huge block being people physai-
cally together but {sclate them 148
People lhving in what is 148 one budld-
Ing with a comimon entry fell Isolated
within thelr oem aparimenis.

They ars uneoncerned 147 their
neighboura: Seme years ggo, a glr was
stabbed to death 148 a period of hall
an hour while hundreda of people lv-
Ing in the block 148 without interfer-
ing, without even calling the police.

The other obvious effect of the
design of buildings & that 1t affords
room for crimes. Hidden nooks and
COrmEeTs, speaces between buildings out
of 180 are convenlent spots whers
crimes can be cammitted without the
fear of detection.

141. {1} expositidns  [2) causes

{3 theories (41 results
143. 1) published  [2) printed

[ predicted (4] pasted
143 (1) m [#1F . T

{34 cwver 4] about
144, (1} witness 2] show

{3 appear (4] happen
148, (1) spiritually  I2) congndtiecty

(3 intellectuabhy mm
1448, (1) easentially (2] debiberately
[ accidentally (4] idecloglcalhy

*147, (1) far 12 with

3 about (#]at
148, (I between. 12 thrasgh

[3) awecr 4] across
‘148, (1] viewed 12 studted

(% cboerved  [4]) watched
150, (1) aight {2} vislon

i3] visuad (4) cbservation
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Answer: General
Awareness
101 (2) 126 | (3)
102 | (4) 127 | (3)
103 | (1) 128 | (3)
104 | (2) 129 | (2)
105 | (3) 130 | (1)
106 | (4) 131 (2)
107 | (2) 132 | (2)
108 | (4) 133 | (2)
109 | (3) 134 | (4)
110 | (3) 135 | (3)
111 (2) 136 | (2)
112 | (3) 137 | (3)
113 (3) 138 | (3)
114 | (4) 139 | (2)
15| (4) 140 | (3)
116 | (1) 141 | (2)
17| (1) 142 | (1)
118 | (3) 143 | (1)
119 | (4) 144 | (4)
120 | (1) 145 | (4)
121 | (4) 146 | (3)
122 | (2) 147 | (2)
123 | (1) 148 | (3)
124 | (4) 149 | (3)
125 (1) 150 | (2)




